Name: _________________________________________      Period:_________      	Date: _________
Cave Salamanders
Imagine a cave that is inhabited by three different variants of one salamander species, brown, red-tail and spotted. Based on the data below, which variant of salamander is the “fittest” and why? Explain briefly. 
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Brown Salamander

@.

N2

Red-Tail Salamander

Spotted Salamander

Eye development

Small, developed

Very small, undeveloped

Very small, undeveloped

Vision Good Blurry Blurry
Sense of smell Poor Extremely developed Poor
# Eggs laid 100 67 65
# Young survived 1 7 3

Comments

The brown salamander is
very agile and fast.

The red tail salamander
sleeps underwater.

The spotted salamander
can survive many days
without food.
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The spotted salamander 

can survive many days 

without food. 
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